
Calculate the following:

Calculate the following:

Exam question: 

A school raised £1527 in a raffle which is to be split into 3 charities 
equally. How much do each of the charities receive from the raffle?

Name:

maths-school.co.uk

Dividing numbers (Bus stop method) 163

a) 145 ÷ 5

b) 260 ÷ 4

c) 572 ÷ 4

g) 648 ÷ 9

h) 357 ÷ 7

i) 581 ÷ 7

d) 133 ÷ 7

e) 425 ÷ 5

f) 512 ÷ 4

j) 1280 ÷ 5

k) 232 ÷ 4

l) 318 ÷ 3

m) 204 ÷ 6

n) 184 ÷ 8

o) 25.8 ÷ 2

p) 1825 ÷ 5

q) 246 ÷ 3

r) 245 ÷ 7

Calculate the following:

s) 13.5 ÷ 5

t) 22.8 ÷ 4

u) 3.51 ÷ 3

v) 28.7 ÷ 7

w) 18.4 ÷ 4

x) 182.1 ÷ 3
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